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3. For the plane-stress state of an element shown below, do the following;
(a) Construct a Mohr's circle of stress. (7%)

(b) Determine the pnnmpal stresses and show them on a properly oriented stress element. (10%)

(¢) Determine the maximum shear stresses and the normal stress on the planes of maximum shear, and
show these on a sketch of a properly oriented stress element. (8%)

ﬁi?a
‘—‘l 1_’17 MPa  x

T 5 MPa

4. The proposed cantilever beam is subjected a concentrated load P at distance L/3 from end A. (a) Use the
second-order integration method to determine the reactions at A and C and the deflection curves vi(x) and

va(x) for the segments of the beam to the left of load P and to the right of load P, respectively. (b) Sketch
the shear diagram, V(x), and the moment diagram, M(x). (25%)




